ISLEVER

HHO-300

HDS Certified Expert - Replication Solutions
Architect

DEMO

https://www.islever.com/hh0-300.html
https://www.islever.com/hitachi.ntml

For the most up-to-date exam questions and materials, we recommend visiting
our website, where you can access the latest content and resources.



QUESTION NO: 1

You want to identify if channel extension products are currently in place.

What should you do to obtain the required information?

A. Interview customer personnel.

B. Review replication properties using Storage Navigator.

C. Use RAID Manager/CCI to identity devices attached to the Fiber Channel fabric.
D. Perform a SCSI inquiry to determine which channel extension devices are present

Answer: A
Explanation:

QUESTION NO: 2

Which two factors will affect Shadowlmage resync time? (Choose two.)
A. Number of data copies

B. Incoming host write workload

C. Installed shared memory capacity
D. Number of tracks updated while suspended

Answer: B,D
Explanation:

QUESTION NO: 3

A customer has a peak rolling average of 100 MB/s. They would like to preserve write order fidelity
for up to 1 hour in their Hitachi Universal Replicator environment.

What should be the size of their journal group?

A. 100 GB
B. 200 GB
C. 300 GB
D. 360 GB

Answer: D




Explanation:

QUESTION NO: 4

A customer is using Hitachi Universal Replicator (HUR) and does not have sufficient network
bandwidth. During a peak write workload, the customer overflows their HUR journals and
replication suspends in error.

What happens when the customer issues a resychronization?

A. HUR performs an initial copy.

B. HUR performs a differential copy.
C. HUR performs a no copy.

D. HUR performs an at-time split.

Answer: B
Explanation:

QUESTION NO: 5

In which state is a disaster recovery site Shadowlmage copy I/O consistent?
A. PAIR

B. PSUS

C. RCPY
D. COPY

Answer: B
Explanation:

QUESTION NO: 6
What are two ways to improve initial copy time for Shadowlmage on a VSP? (Choose two.)
A. Use SATA disks.

B. Distribute S-Vols across additional parity groups
C. Increase the copy pace.




D. Decrease the copy pace.

Answer: B,C
Explanation:

QUESTION NO: 7

A customer has chosen TrueCopy for their disaster recovery replication to minimize data loss. The
solution must minimize any potential host performance impact.

What are two considerations for this hardware configuration? (Choose two.)

A. Production hosts should be removed from the RCU.

B. MCU and RCU disk configurations should be identical.

C. The RCU should have the same number of replication ports as the MCU.

D. Both MCU and RCU should have additional disks added as journal volumes.

Answer: B,C
Explanation:

QUESTION NO: 8

A customer has two data centers connected using three 4 Gbps Fibre Channel inter-switch links.
The business requires that all written data is guaranteed to be replicated and current at the
disaster recovery site.

Which replication technology meets this requirement?

A. TrueCopy Extended Distance
B. Hitachi Universal Replicator
C. TrueCopy

D. Hitachi Dynamic Replicator

Answer: C
Explanation:

QUESTION NO: 9




